Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - 4 « EXAMINATION — WINTER- 2016

Subject Code: 3340204 Date:24-11-2016
Subject Name: Automobile Industrial Management
Time:2:30PM TO 5:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q1 Answer any seven out of ten. €2Hiell SleURL Ulclatl welled }L. 14
1.  List the Types of float.
. sAle ol Usl wuudl.
2. Define LMV and HMV.
. LMV Aol HMV cllul8d $2U.
3.  Give the advantages of decentralize store.
3. Sl-AceAUBY RAR oll $lAEL LU
4.  Define the Self-Employment.
¥, Aes Arcllie catvaugd s:Ae
5. What is a Meaning of Preventive maintenance
U, uesla et ol el il
6.  Meaning of Activity and Event.
S.  Ugld Aal olollel oll Al U,
7.  State the Registration Code no. of the following
1. Rajkot 2. Gandhinagar 3.Baroda 4.Palanpur
9. ol Aell W20t ol SlS wRUC.
RS2 .0UYleloR 3.0RSL ¥ UWAAYR
8.  Draw the neat sketches of any four traffic signs.
¢. Ul AR 2UEs Rset ol aus(A €12
9.  List the types of inventory controls.

8ol $2\cA ol YUslR Ul
10.  Definition of public service vehicle and private service vehicle.
Q0. %182 Acll clgel ol Wietdl Al allget ofl caltvall WL,

o

Q.2 (@) Define the driving license. State the necessity of obtaining driving license. 03
sl () sisldol claiet ofl caltvall QL. steslelol claie Roaal ofl 03
3Rl Ul
OR
(a)  State the provisions regarding silencer of motor vehicle. 03
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Al&otoll S AR el oteuss e,
Give the Difference between shares and debentures.
AR U [BARIR AR dsleld wRULA.

OR
State the duties of store keeper.

LR SlUR ofl g9 wuu.

Name the authorize for which following code are being used.
1.GJ-01 2GJ09 3.GJ02 4GJ11

olA galdd 8Sls 585 AUl AAl HIZ dURAU B A AW,

1.GJ-01 2GJ09 3.GJ02 4GJ11
OR
Explain third party insurance.

a$ Wl lul of adlet 5.
Draw neat sketches any four important mandatory signs.
SLESURL UR wdLRlefl gFalcd Rleall ofl s €12

OR
State the procedure for stage carriage permit.

R 3o uPe Ancalell uBa vl

State the duties of driver in case of accident.
WSTHLAUHA L8R ofl $81 swul.
OR

In which circumstances, vehicle registration can be suspended.

sl ABNHL clsatoj dlugll € 53 aslal,
State the provision regarding first aid box.
g2 A ollsy ofl loteues sl

OR
State the provision regarding Horn.

Alot ottll glotasl el
Explain function of preventive maintenance.

westal ettt ol staAl cul.
OR

Write a short note on customer care.

52HR 3 (A gsolll vl
State the eligibilities required for obtaining conductor license.
§552 of AlBUatA Aaclloll Ul sRUA.

OR
Explain the ABC analysis.
ABC Aotl@ARU A1l
State the prospecting of customer.
Aesle(l Vel weuA.

OR

Write a short note on co-operative organization.
Uss3L el (A 5ol Al
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Write a short note on bin-card.

(et 518 QA gsolll AVl

OR
State the necessity of permit.

ue Heell 3Raudl wseudl.
Draw the network diagram and find the critical path from the following data.

o{lA RUAE (Bl HIZ st dAR s.aHe s2lsdl ua .

Activity Preceding Activity Time Duration in Days.
yq(d ydadl yg [ clQul uH20u0
A - 1
B A 9
C A 6
D C 4
E B,D 5
F C 8
G E,F 2

Give advantages and disadvantages of centralize store.

A2AHAS Y RN\R oll SLAEL Vol AGLAEL sRUCA.

State the age limit for obtaining driving license of various classes of vehicle.
o€l EL Al ol cllgalloj LeS(clol cllsUetd Ancalell camalel

Rl .

State necessity of the registration of motor vehicle.

2R clgote] AUt scll Mol w3(RAUA .Ul
Write short note on “Warranty”.

"Warranty" (A2 sl v,
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